
 

SKU 76 Vauxhall Adam  Fitting Instructions   

  

Tools you will need:  

• Allen Key Set   

• Stanley Knife (Optional)   

• Tape Measure   

• Marker Pen   

• 11mm HSS Drill Bit  

• Spanner/Socket Set  

• 40mm Hole Saw 

In your fitting kit you will have:   

• M8 x 45 Caphead Bolts (4)   

• M8 Hex Head Flanged Nut (4)   

• M8 x 15 Buttonhead Bolts (4)  

• M8 Riv Nut Tool (1) 

  

  

1. Remove all the side plastics and boot floor from the vehicle.  

  

2. Once all plastics have all been removed this will expose all mounting 

points. These are 4 holes that need widening to 11mm to install the 

rivet nuts supplied. 

3. To Install The Riv Nuts Using The Tool Supplied Follow Video Here 

https://www.youtube.com/watch?v=3Og-tHIR_0I&feature=emb_title  
  

4. Align the K-brace and make sure all is aligned.   

  

5. Remove the K-Brace and refit all trim 

  

https://www.youtube.com/watch?v=3Og-tHIR_0I&feature=emb_title
https://www.youtube.com/watch?v=3Og-tHIR_0I&feature=emb_title
https://www.youtube.com/watch?v=3Og-tHIR_0I&feature=emb_title
https://www.youtube.com/watch?v=3Og-tHIR_0I&feature=emb_title


  

6. Cut trim adequately (40mm Hole Saw Reccomended) 

  

7. Re-install your finished product.  


